S By 606 =5 w2 2 157 L i
b H: xR
27 — 1222 — 86x — 48 21x2 + 80x + 64
Ox + 8 3x+ &
81x° — 812 + 9x 43 — 2% + 4x
Ox X
A2x% + 47x—9 24x% + 30x — 36
Ix+ 9 3x+ 6
14x% — 34x — 24 26 + 4% —19x— 12
Tx+4 x+4
15x2 - 15 3203 — 242 — 64x
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55 Gy 6o =0 5% LA R
42 EEE VAV
27 — 1222 — 86x — 48 21x2 + 80x + 64
Fx+ 8 3x+ 8
3 — 4x— 6 Tx+ 8
81x° — 812 + 9x Ao — 2P + dx
Ox X
O* — 9x + 1 A — e+ 4
A2x% + 47x—9 24x% + 30x — 36
Tx+9 3x+6
bx—1 & — 6
14x% — 34x — 24 26 + 4% —19x— 12
Tx+ 4 x+4
2x— 6 2> —4x—3
15x2 — 15 32x° — 240 — 64x
3x—3 &x
X+ S 4¢* — 3x— 8
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